
Amax = A1 + A2  = A + 2A = 3A     and      

Amin = A1 - A2  = 2A – A = A 
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Displacement of Fringes 

When a film of thickness 't' and refractive index '' is 

introduced in the path of one of the wavelet, the 

optical path length of this wavelet become more than 

its geometrical path length by (t – t). So, the value of 

optical path difference changes at every point on the 

screen and it causes a shift in the position of every 

fringe. 

Optical path difference at P  

 opticalx = S2P – [S1P + t – t] = S2P – S1P – ( - 1) t    = 
D

yd
 – ( - 1) t 

P

S1

S2 

, t 


